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V w
1. 3 3. If the centre of the circle
(b, kb) ,\;+f+2-q)(+2fy+czo
lies on the y-axis then
y=f(x)
(a, ka) A £=0
0/(1,0) oy B g =0
The diagram shows a curve with C c=0
equation y = 7(x) and a straight line with
equation y = kx. The shaded area in the D f=g9
diagram is given by
:n b E 92 + fZ = c
A f(x) dx- J-kx ax
o ! a
Kb kb
( 4. b f()
B F(x) dx- kx dx
¢ ka ka
b
C {(F(xX)- kg ax
kb 0 x
D {(F(X) - k3 dx
Jka The graph in the diagram could be that

E none of these of the function 7: x—
2 A X-4x + 3
. y
y=x
; B X-4x+ 4
%H: i C )Z+4x+4
Ow g D »#+3x-3
; E X¥-3x+4
The line y = xis a tangent to the circle
with circle (V2, 0). The radius of the 5. Given that Q is the centre of the circle
circle is X+ +2x-4y-15=0and
| R (3, 4) is a point on the circumference,
B then the gradient o is
A 2 hen the gradi fQRI
B 1 A O
1
c Iz B /s
c ',
D 2
D 2
E none of these E 3
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The minimum value of
cos 120° + cos x°, xeR is

1
A 2
1
B _ =
2
c 3
2
3
b - 2
V3
~ 1
E 2

The circle with equation
X+ +6x-8y-5:=0
has as its centre

A (6, -8)
B (-6, 8)
C (3, -4)
D (-3,4)
E none of these

3
Given that 77 (x) = 5x2 and A1) =1,
AX) is equal to

NSS4}

A 2x
S5

B 2x? -1
5

C bx? - 4

1
D 1 (15x2 - 13)

E  3(25x: - 23)
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T
Given that 0 < a < Eand sino = 5§

then sin (6 + a) equals

) 3
A sin @ =
in +5

3 . 4

B 5‘sm6’+5cos6’
4 3

C 5_sin0+5c050
3 . 4

D 5—sm0-5cose

E ﬂsin0-§:059
5 5

b
_‘- k dx, when kis a non-zero
a

constant, equals

A 0
B b -a
1
c (b - &)
D k(b -a)
E k(a-b)
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